










Q. Hina, Kiran, Shakti, Shree, Lata, and Mita are part of a family in which

there are two married couples. Lata and Mita are siblings. Shree is son-in-

law of Hina and son of Mita. Shakti is only child of Kiran, who is

grandfather of Lata.

हिना, हिरण,शक्ति, श्री, लताऔर मीता एि पररवार िे सदस्य िैं हिसमें दो हववाहित िोडे

िैं। लता और मीता भाई बिन िैं। श्री, हिना िे दामाद िैं और मीता िा बेटा िै । शक्ति,
हिरणिा एिमात्र बच्चा िै,िो लता िे दादा िै।

Q.(9) How is Shree related to Kiran?

श्री, हिरण से िैसे संबंहित िैं?
(A) Grandson / पोता/नाती (B) Grand-daughter / पोती/नहतन
(C) Daughter-in-law / बहु (D) None of these / इनमे से िोई निी ं



Find the missing :-

(A) 100
(B) 139
(C) 157
(D) 512
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13 20 15 11

5 3 4 9

9 12 14 16

16 84 136 ?



Find the missing  :-

1. 49
2. 36
3. 50
4. 55
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6 8 5

24 8 ?

2 1 2



Find the missing :-

(A) 1
(B) 2
(C) 3
(D) 4
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2 4 14

3 5 22

? 6 32



Find the missing (?)

1. 14
2. 16
3. 27
4. 25
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28 22 48

52 15 17

14 14 27

7 ? 16



Find the missing :-

(A)16
(B)12
(C) 28
(D)13
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5 4 3

8 7 1

6 2 9

38 15 ?



Find the missing :-

(A)19
(B)17
(C) 15
(D)20
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4 6 3

9 5 2

6 8 8

? 24 18



Find the missing :-

(A) 3
(B) 4
(C) 5
(D) 6
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3 4 2 6

? 2 5 3

4 2 2 7



Find the MISSING (?)

1. 5
2. 6    
3. 7
4. 8
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2 3 4

7 3 0

4 7 9

4 5 ?



Find the missing :-

(A) 9
(B) 27
(C) 81
(D) 243
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3 6 4 9

2 5 8 8

3 1 5 ?



Find the missing  :-

37 * 14 = 17
91* 125 = 72
28 * 125 = ?

1. 26
2. 42
3. 34
4. 51
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Find the missing one  (?)

( 5 , 8 , 39 ) :: ?

(A) ( 13 , 16 , 88 )  
(B) ( 6 , 8 , 44 )
(C) ( 11 , 12 , 74 )
(D) ( 9, 12 , 63 )



Find the missing :-

12 : 84 :: 24 : ?

1. 312           
2. 315
3. 268
4. 270
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Find the missing term(?)

20 : 30 :: 110 : ?

(A) 123

(B) 321

(C) 312
(D) 132 



Find the number of triangles in the given figure.

A.13
B.14
C.15
D.16


